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Ot E ELsER 16,800
O1g 1¢ JI1& 350& * 47,0004 = 13l 16,450
O7€ 1¢ JI& 350& * 1,000 = 13 350
238 HeHEAN &E 3,317 3,317 0
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01 At 22l 817 817 0
ORsA Heldl DN 22
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OB UALDA R0
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Ofsd 2HHN MDIMEH 82 dHX HE
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301 LEEXSZ 2,500 2,500 0
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O=Y SHAIRA M1 Xazs
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04 JIZHHZ2XNHEE S 11,601 11,398 203
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120,0008 * 18§ * 23| * 95% 208
OBATLX TR IY N8R
170,0008 * 128 * 95% 1,938
OBAZTDE JOIT2Y BASS 1=
3,500,00021 * 95% 3,325
OBBZLX HE MRPSE
20,0008 * 15 * 128 » 95% 208
OLPIHATD 2 FAsE
99,0008 * 128 * 95% 1,129
OUEHIIS HEAND 23T X
130,002 * 10252 * 30H * 95% 3,705
OUEEIIE #FSXME A0 &28 EU
220,000 * 30H * 95% 627
OUEHIIS ADES
10020 * 20,00004 * 95% 1,900
OUEHIIS Y ZH +22
800,000 * 128 * 95% 9,120
OHAXY 2T
4,50080 * 32 * 3004 * 95% 385
OME I =HHE AEIT
14020 * 3,0000H * 95% 399
OMEI| AABE BHHA ENT
1,0008 * 20004 * 95% 190
oYX (2Y) HIIS Al
50,0008 * 30E * 95% 4,275
02 2zl 326,302 304,537 21,765
OBEEUE AS2(H299)
70,0008 * 10h * 122 840
OBATDA ME AMYS S4E
20,0008 * 128 240
O2HAR &4 228l 100,0008 * 504 500
oHATIE B2l (BAN22R) 4,706




2N 4YD BAAMD
M 9 JHRE OISLE2 TAEE =4
el BMEE MEBHY Z4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHgxy IM==2(BE,8DI)
85,000& = 1104 « 43| 3,740
OF8xY AM=2(BE, . EDI)
75,000& * 5CH = 23 750
OA8XY M2 (BE,EDI)
54,000& = 208 = 23l 216
OFAXE 22 (HANAUHLED A2 T)
360,000& = 1CH 360
OFAXEZE SIMERES
120,000& = 300 23l 720
OFAXE XS A 30,000& * 3CH 90
OHAXE 2 XHI(300H) 304,500
OFAX 10,800,000 * 27CH 291,600
Ost= 4,300,000& = 30H 12,900
OLHIEAX] 22323 9,646
odII=zI(JI28) 6,160 * 60kw * 128 4,436
OXIIQB(=DE) 74% * 3,000kw * 128 2,664
Oldt=E = 148,000 * 123 1,776
OLHEATD HERI
916& = 8L » 104 » 105 770
OLHXD AM&EHISXH  1,000,000& * 43| 4,000
OZ2EZ ANMEZ2E WS KX
7,000,000& = 10% 700
206 M= Hl 56,818 28,075 28,743
01 =8l 56,818 28,075 28,743
OL-HAHEAX JIXM 18,900
Oos2Ed 280,000& * 3CH = 1504 12,600
OAOIEE e 4 140,000&  3CH = 1504 6,300
OFAES (ULl S 128)
50,000& = 12& = 12& 7,200
OFAEHE =T 223 15,0008 * 659 975
OSIZRE AZAS3 40,000& = 1094 400
OLHEAXL] &Y 2 AUESF
10,0002 * 604 600
OHE&dS =HE 2IZE  4,400,000& = 104 4,400
OHIZRA MBS EF 24,343
OFHYN&EL 12,000& = 659 = 204 1,560
ogrotA3a 3,000& = 6598 = 100& 19,500
(@)=Rel 2! 8,000& = 65 104 520
O&==E2sHH 7,500& *« 659 * 10 488
Odlel2EsHH 35,000& = 659 = 10K 2,275
401 Al HIZ 2018 40,000 0 40,000
01 A& HI 40,000 0 40,000
OLSHEAXL 0l &I 40,000,000& 40,000
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2N 4YD BAAMD
MM U WRE OIEUS TAIEHE T4
el XIOIEIGHEOl BHMY FOY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNEOoIH =22
50& * 10024 * 23] * 95% 10
OIIMAX 8=
80& x 2,50021 * 128 * 95% 2,280
OetsdEE oles
30& * 1,000 ~ 128 * 95% 342
OXZEDI =2 22,000 * 53] * 95% 105
02 23244 18,515 18,305 210
OEFAMNEEEZ DM &8 R2ER=2 18,515
ogut 350 « 15,0000 = 23l 10,500
OS2I 2,4502 = 35000 = 23] 1,715
ossd 350 « 9,0000 = 23| 6,300
SFHAAEO 2 22| 59,073 59,038 35
2= - HFAIE S22l 11,389 11,314 75
201 B9 11,289 11,214 75
01 AP 22| H| 10,449 9,690 759
OFSIE HACHHN HMAEZX QL4
109€ = 1,1000H » 12&€ = 95% 1,367
OXNE&EHEE I=H| 1,102
ogd9= 190,0008 » 4% * 95% 722
[@)=13%:3=18 100,000 * 4% % 95% 380
ONMAE S OtSola=HMHelAlE s X A
14,000& * 300 * 23] * 95% 7,980
02 2324 840 1,524 A\ 684
02+ L JE2L OA8 EUE ANEBR
70,000& = 14 ~ 12&€ 840
206 M 2 d| 100 100 0
01 X2 Hl 100 100 0
OJelstEXHelAlE B2 WY
1,000 = 10074 100
25 - Qe EA HZERI 2 47,684 47,724 A 40
201 LBt ]| 14,984 14,984 0
01 AP 22| H| 1,064 1,064 0
O=2Fs&A Holx Ha
14,0009 * 20& » 44 = 95% 1,064
02 Z2=2=24%4| 13,920 13,920 0
O2F&A HMIIL=2
120,000 = 404 = 12&€ 5,760
O=2F3&a Mol 22
170,000 = 404 = 12&€ 8,160
206 M = Hl 7,500 8,500 A 1,000
01 X2 H| 7,500 8,500 A 1,000




2N 4YD BAAMD
MM U WRE OIEUS TAIEHE T4
ol BAYAIMO e Bl CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ogelsda ARE(SEI £ 108)
500,000& * 70 3,500
O2=3&a ARE(SEIX £ 108)
1,000,000 * 402 4,000
307 2Iz2t0| & 19,200 18,240 960
05 QIZ2tREF 2 19,200 18,240 960
OTEHIA B2l PHAH(VAASI)
00,000 * 4014 = 12& 19,200
401 AlEHIZL 201 Y| 6,000 6,000 0
01 A& H| 6,000 6,000 0
OZ2ZFs&A RIES 1,500,000& * 44 A 6,000
BtHQAEAEZA HISAIEE &2 13,416 12,497 919
S AIE & 2FAl 23 13,416 12,497 919
201 LBt ]| 9,470 8,556 914
01 AP 22| H| 7,270 6,556 714
OYRY WY AML4E
50,000 * 1 = 95% 48
OSHELLAAMNIDA SLHAH & HIIZXH:2HI
500,000 * 204 * 95% 950
OMP HIAME =8 442
86,300 * 1JHA = 1300 K& = 95% 1,066
OEUYLQQIAT HA =42
759,200 * 13| * 95% 722
OUIILLIZE ANZBHF &l =2
600,000& = BIHA * 95% 2,850
OAXNT 2= & oHLHSE B HIZ
500 * 1,00000 * 2= * 95% 950
OBTLISH WEAL S58 IS
90,000& * 4Y % 28 * 95% 684
02 E2=2=2%H| 2,200 2,000 200
O&stF=FHZAH SAcldl 200,000 * 5= 1,000
OsZUAM™ME FEUE MSE
70,000 = 104 ~ 12&€ 840
OsB0A™e EHEFPC A2
30,000 = 104 ~ 12&€ 360
206 M = dl 3,666 3,666 0
01 X2 bl 3,666 3,666 0
OStZB=HAH| JI X 1,000
OF& AN 22HY 300
-PER® (4L) 1,500& = 10074 150
-S2l8 (L) 3,000 * 5004 150
OUFAES ZTEHEZ UH 35,000& = 20H 700
OEFELAAILD BHAHIZHH| 2,666
oYs & 330,000 * 32+ A 990




[Ye) N~ N~ [<e] (<o) [ep] ™ o [ap] o o o o o <+ ©
(<o) (<o) — — (<o) [e ] < [0)] o) < <t o o M~ <
CLlelI™~N[~ = QN |<@ © A e < N
=+ Yo Yo Yo Yol <t — [ <t [aV] < <t © ©
0
N [ep] [<p] A A_ A < (2] ™ © ©
Klo
El
E=]
o) Y] ()] (o)) N~ N~ < Al Al Al o o ()]
NN 0 0 N ~ | @© @® [ ® N~ Q
Y AR MREMN N | e
Y] Y] (o)) (e)] [ee] Te) [Te] Te) N~ D
— — Y] [Ye)
LH 3r — |2
uiEd RIS
RS
o o o o © o o o (o] (o] — — — (<o) [Ye) Ye) Y] Ye) o (@) Ye) o o o (@) () () o o o <t o)
o o © o — [00) [o0) [00) Al (V] [<e] (<o) [<e] [ep] Al (<o) [aV] N~ o Y] [QN) o o) o) <t <t <t o o o <t ™
e © - 3 N | Njlele ||~ |~ ~ NN |m e © N N o N el -3 |2 S |w|®
— — <t <t <t Al — (<o) [aV] o — [aN] Yo} [aV] [aV] < < < ™ «©
ar Y
<
(=
= T T 0 iy S B S ) 5 & all 5
i N owmoR H N [ [ > > » = = 2 )
™ x o < 0 * * * * * * * (8N — *
ar |- W oxox 20 80 W o= == * * o
0 |w S W w o N 3 ~ 8 2 8 3 o 3
(] o (@) (@) x o x (@) () — () o
m._ o -~ O o :._o *x - - Dro *x - S -
= S i oFl - = @ 5 . 7 - 2 * S =
g g ~ S 28 = g K- 48 S @ g a2
al |2 = =) = IS 7 S Ry No 0 - -
- o N e OF: -~ OF S N (<]
< o ol = o — o RO — — a
I+ Ko © o 3 x S ® 3 s o
_ 30 <l « = 3 [Te] lls =K
< = <@ @ OF () =
~ 0 ®Q 3 0 o |2
= = o) = =4 R0 0
- oF
@ U ok 0 Cﬂ._ 80
F o Klo 0 R0 ol
&) o 30 L o |D ™ B|lD|D - < t
% |20 o 20 __wm ~ ||z = mEE 80 8D 3 o
- ~ iy R0 (N i el VN LT 2o | A oy 20 |35 20 %
wl @) 7| W Wl Ao TR N R s o M oF w | o <
R0 ol |~ © < Hlaw | O Ao |=< 0 © = | = © o
. — | A8 | = [— 8| = | = N © | = (]
o | — ey o |o = o | o o o | o
X 1] A3 || X 3|« ISy 30
3| 2 | o oF 0H

20

Ok

RO

Ok

10




2N
X ZH -
L= B

el

AgT AN
HHSYAH (MY SFAMD)
ol 2yl

e o

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
PIAHAZZX B 4,126,335 4,059, 389 66,946
101 @14 Hl 4,126,335 4,059,389 66,946
03 RIHAZZ2HE =+ 4,126,335 4,059,389 66,946
OSZ IR ARA(154 014 4,126,335
OoJlzs 2,156,890& » 65 » 12&8 1,682,375
Oz 1,010,763
Olgag
2,456,890& * 50% * 65 * 43 319,396
—H =S|
2,456,890& * 50% * 65 * 63 479,094
-¥asy
2,456,890& * 50% * 659 * 23| 159,698
=S = 2,156,890& = 37.5% » 65H 52,575
O™ gt 765,780
—SaYo ALY
90,000& = 659YH = 123 70,200
“A g 70,000& = 659 » 12& 54,600
-E2==gJt&32 80,0003 * 65 « 123 62,400
- s 81,840
- B & 40,0003 = 528 « 123 24,960
cES 20,000& = 41 = 128 9,840
3 PUE 20,000& = 378 » 123 8,880
- SMAH 60,000& = 33H » 12& 23,760
0 PUE 100,000& » 12% » 128 14,400
-ty stHIXI & 3
500,000& = 11H « 13l 5,500
—EU2RsE 491,240
SL22E
136,915& = 659 = 32 « 128 320,382
otz
9,127 * 65 = 24 « 123 170,858
O=cl= 4| 300,838
-Z g A 140,000 » 65 * 12& 109,200
-H3ZE Sl
2,456,890& * 60% * 659% * 23| 191,638
O=d=TX 106,200
- 44l 80,000& = 659YH = 123 62,400
-FExg 50,000& = 659 = 12& 39,000
=g 200,000& = 1H » 123 2,400
~H ML (LX) 200,0008 * 1 + 128 2,400
Ogmrest=E
146,041& = 65%H » 20 189,854
OSEg=gl 8,000& = 659%H = 20¢ 10,400
O3 & Il=H 55,250




2N 4YD BAAMD
MM HESHBH (MY SFAM)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-&H= 90,000 * 65 * 6= 35,100
-get= 100,000 * 65% * 1= 6,500
& A X)) 15,000& * 65YH x 23] 1,950
-OtM 3} 60,000& x 65Y = 23| 7,800
-& 3 15,000& * 65Y * 23] 1,950
-2 9| 15,000& * 659 = 13| 975
-ot& & 15,000& * 65Y * 13| 975
OSABLE S22 WY ESHI(401)
30,000& » 65H = 13| 1,950
O8ZSRA HOIgt 2AaX 2|
150,000& * 65 * 30% 2,925
Jl=23&3 bl 97,209 97,881 NBT2
Jl23Hl 97,209 97,881 NBT2
201 Bt A | 42,549 43,171 N 622
01 At 22l ] 27,799 29,321 N 1,522
OJlegsa A 500,000 * 24 * 90% 10,800
OJI=&AHl (=&d|)
8,000 * 24Y » 82 x 128 * 90% 16,589
O&d=xJ| &XE 35,900& ~ 104 » 12&8 * 95% 410
02 352494l 14,750 13,850 900
oRWE2 14,350
Oggt 350& = 20,0000H 7,000
OS&II 2,450& * 3,0000H 7,350
O= A 7 AIE =4l 5,000,000& * 8% 400
202 044l 45,120 45,370 A 250
01 2L Y| 18,720 18,970 A 250
OJ|IEZHI 20,000& = 13¥ » 6 * 128 18,720
02 EH0b| 26,400 26,400 0
©J|=Z&bl 200,000& *= 11 * 128 26,400
203 ¥ R =&t 8,340 8,340 0
04 EANSIELRF=XH| 8,340 8,340 0
OPIESL 8,340
03021 0|5t 400,000& * 12& 4,800
O30 =1t 5,000& * 599 « 12& 3,540
405 XHabF SHI 1,200 1,000 200
01 It = S F St 1,200 1,000 200
O©TV(50Q! XI) 1,200,000& = 1CH 1,200




N = 0l & At & Ml A

20218 = =0 & LA AEF

SN 4YTR ALD
M YHES JI2EHBXAH
e JI2 . BotE X2 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
aAgR AL 10,428,805 12,225,008 N 1,796,203
HEE 2@ XH 2,422,277 2,359,281 62,996
otz Bots szl 2,422,277 2,359,281 62,996
tegots A4 2 L 596,736 578,623 18,113
401 Al HI L £ 0HHI 596,736 578,623 18,113
01 A& HI 593,000 575,000 18,000
Bots M7 &X 1,500,000& * 110JH & 165,000
OL=Jt2& LED A 1,000,000& * 1504 & 150,000
OkL=:itzs I uA
7,500,000& * 1000 &~ 75,000
OLE22S LED WX 1,000,000& * 6074 4 60,000
OEAXGHNE “SHEES 1A
1,000,000& * 9374 & 93,000
OWgdx o2 fst LEDE S WX
1,000,000& * 5004 & 50,000
03 A& 20 Y| 3,736 3,623 113
ON2EHS A4 L WXl AE2UbI
593,000,000& * 0.63% 3,736
2 - 8os 2el 1,825,541 1,780,658 44,883
201 LEt2 Y| 1,370,593 1,325,710 44,883
01 AFR2t2l bl 32,647 29,878 2,769
OJtgs dMII&8H da3x=x2 21,342
(@F=FSk= 51,040 = 25500 A * 95% 12,365
otgs=s 8,590& * 1,100 * 95% 8,977
OJlz28os B XHI IS 475
Oo&g= 90,000& * 2 = 95% 171
ogsts 100,000 * 2% *x 95% 190
OCotH 5} 60,000& » 2% * 95% 114
OJMN2E |IEBLsE & 22Xt
950,000& = 1CH = 128 * 95% 10,830
02 352494l 1,337,946 1,295,832 42,114
OJz=Eos dMIIe=2 1,324,800
oz s 230,000 = 255014 = 12€ 703,800
OoBots 7,500& * 6,900 * 12& 621,000
OJt2s s )| SMe3
3,000 * 25504 * 12& 9,180
OJI2E RIABE2 I S5
1,377& * 124 * 240 3,966
206 M=l 112,500 112,500 0
01 & bl 112,500 112,500 0]
Oz2EoHEs B2 M 112,500
gots dH)D 80,000& * 3004 24,000




SRR
B 3
J

el

DA HB B (EH) - MBAY - BAS o A o SSa H RS2
Otz sgs )| 1,800,000& = 104 18,000
ODNALHEE &I 1500 18,000& * 50074 9,000
OLNYUES I 250W 20,000& * 50074 10,000
OLNYLIES o4& I 1500 17,000& * 5004 8,500
ONYLIES ot&D| 2500 20,000& * 5004 10,000
OLEDE = 50W 80,000& * 504 4,000
OLEDS I+ 70W 700,000& = 2004 14,000
OLEDS I+ 150W 1,000,000& * 1504 15,000
401 AIEHI L 200 342,448 342,448 0
01 A& bl 340,000 340,000 0
OJz=Eos RAEBS 200,000& * 1,700AH 340,000
03 A& 2 0Hb| 2,448 2,448 0
OMN2EHE B =& AE20UYI
340,000,000& * 0.72% 2,448
YN ZS /st TADIEtE A 6,281,407 7,848,972 N 1,567,565
= 12m01Cte SAIHEEZZ e 1,337,397 1,089, 187 248,210
T Z2I|EAIE E2EXA 18,547 16,857 1,690
201 LEt2 Y| 18,547 16,857 1,690
01 A2 22| bl 14,285 12,889 1,396
OZAHEDNRA AIRS 222 3,455
O=AE X (A4)
21,0003 = 3A X » 128 * 95% 719
OosJIA2E 646
-3 70,000& * 1CH * 43 * 95% 266
-2 100,000 * 401 * 95% 380
OozZglH &Y 220,000& * 1000 * 95% 2,090
oNgde, T=283E XA £ NCESBE
INE=ER>DN; 950,000& * 1CH ~ 128 * 95% 10,830
02 35244l 4,262 3,968 294
OEXNOISHEZOA LZE2 HHEY RA2
2l 296
O&E X2 A 3,700,000& * 8% 296
(OPNE=2=X=4:] 1,377& * 120 * 240 3,966
Il E2 HAEK B4 206,560 206,210 350
401 Al HIL 201 206,560 206,210 350
01 Al &bl 206,560 206,210 350
OJ T2HUSK B4 206,560
OEX Oyl 200,000, 000& 200,000
OLEEx=g 6,560
LEEIHLLE
200,000& = 274202 = 102 X| 4,000




AN 4ET ALY
A
=

X{ XH -
S =

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
—EEEErTR 372,000& = 5 X 1,860
S0l =8 70,000& = 102Xl 700
g & FAME A (A2-125) 24 200,000 0 200,000
401 AIEHIZL 2CHEI 200,000 0 200,000
01 A& Hl 200,000 0 200,000
O 24| 200,000, 000& 200,000
&E Jotote F=H(43-10068) &S24 257,000 0 257,000
401 A& HIZ 201 I 257,000 0 257,000
01 A& HI 257,000 0 257,000
(©)=Fa g 257,000, 000& 257,000
ES212-8 A 2& T2 159,838 0 159,838
401 Al HIZ 2018 159,838 0 159,838
01 A& HI 159,400 0 159,400
O & Al & A HI 10,000, 000& 10,000
O EX 24| 80,000,000& 80,000
O Z AtHI 69,400,000 69,400
03 Al =2 THHI 438 0 438
OAIE S THHI 69,400,000& * 0.63% 438
EXNE& -3 7,452 0 7,452
201 LB-2dH| 7,452 0 7,452
01 At 2t 2l 7,452 0 7,452
O & =XIE20207t 2503244 SH N
7,451,896& 7,452
SETZ HUAY (20 A) 288,000 0 288,000
401 AIEHI L 2 CHEI 288,000 0 288,000
01 A& Hl 288,000 0 288,000
OB4HI (2SS S=2&HI) 159,000, 000& 159,000
OZ&H (BEs =2&Hl) 119,000, 000& 119,000
O &l Al & Al HI 10,000, 000& 10,000
SANHEETZ W EX B4 200,000 0 200,000
401 Al HI R 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OEANHEEZZ W EX 24 200,000, 000& 200,000
2| 4,944,010 6,759,785 A 1,815,775
ZEH &€ FANE* 3,267,875 3,858,137 A 590,262
101 @144 Hl 4,854 4,792 62
04 JIZHHZ22XHEES 4,854 4,792 62
OuS XA 4,854




oz
Hu o2t o0
ot 4

Fag=ni
8 I8 TADIBEY
el

SA - ZE-B(EA) - NRAY - B S il &t o il
O0=¢g 74 900 » 2% » 3w CH * 100~ 4,494
O A

3,000& = 23] = 2H » 3w » 1004 360
L2 HH| 322,128
AtS 2tel 51,538
OFHIEXZ 20,900
O=24] 600,000& = 1CH = 20 = 95% 11,400
OgZXxt 500,000& * 1CH * 20 = 95% 9,500
OLZUJ EEXZA & NEHABE IS
950,000& * 1CH * 128 » 95% 10,830
OAL1R &2 EXNMESE
500,000& = 1= Xl * 95% 475
oOFI|IetM | =22 6,042
Os2ds XNatMT  265,0008 * 128 = 95% 3,021
Ogg-&ddHE 265,000& = 128 = 95% 3,021
O+=ZAE =ZZA =8 190
Os2=2 Xele= Hel vteE 2=+
20,000 * 1OHA + 23] « 5& * 95% 190
OLZ&H 2HE 223 3,705
OIS (A3, A, AO)
21,0003 = 58rA « 128 * 95% 1,197
OoZgHy Y 220,000& = 1200 = 95% 2,508
O3"Marze] 9,396
O=zg=g+22  372,0008 « 10X * 95% 3,534
OBA=g==2 567,000&8 * 102Xl * 95% 5,387
OssMat2el ZDEXE HA
50,0003 = 1090 = 95% 475
232%H4| 270,590
OJISE AFR A ety 1,649
ORZUH(ER) 9163 * 304 * 602 1,649
OE2H M=HHE MFI 24| 1,377
ORsU(ALSR)
1,3773& = 50 = 204 = 100 1,377
OT=23FHl &4l =2l (=21, HEII)
250,000& * 23 500
OXStXE JIHEE SX 7,722
OSsl(ER) 1,275& = 4504 = 33| 1,722
ogdEI & ¢ =2l 1,000, 000& 1,000
Otf=8= #2 £ =cltl 5,000,000& 5,000
OXSIAHE =tidE Xl 5,000
O=x=&gt 500,000& * 50 4 2,500
Ot & gt 500,000& * 50 A& 2,500
OFATZ(ML)2el CCTV 23323 5,400
ONIIe3 50,000& = 304 = 12& 1,800




SN 4P ALD
N geLdsS fe TADIgxd
el T2
SH - BAEA) - MRAY - BES Of &t o il
Odges=s 100,000 * 3CH + 123 3,600
OgY-std2t HE 141,600
(OFSWIRTE=; 11,000,000& * 128 132,000
OFSE=J-IRaRe=, 800,000& = 12E 9,600
OousHE 9,000
(OFSWIRTE=, 750,000& * 12E 9,000
O22s SSOME MYz S 2,884
OFSPIRTE=, 550,000 ~ 4& 2,200
Ostes= 57,000& » 12& 684
oudz NHsS+=aLFX 1,392
(OFSWIRTE=, 150,000& = 4E 600
Oostes 66,000& » 12& 792
O+=E2 180 ASS =L EX 1,260
(OFSWIRTE=; 55,000& » 12& 660
O8tes=s 50,000& ~ 123 600
OXNSEZEEH WSHMEEANLE 6,000
Ostes=s 500,000& = 12E 6,000
Ostaez Mz 11,760
OFSPIRTE=, 65,000& = 7oA + 128 5,460
Ozlde= 75,0008 * 7HA + 128 6,300
OR4N otz A2l NSAHHAAE 34,560
(OFSWIRTE=; 40,000 = 120 = 128 5,760
OCCTVald 2= 200,000& = 12042 = 128 28,800
OsLZ Xgls Hel HFE & E2AI4 35,200
(OFSWIRTE=; 1,200,000& » 12& 14,400
Oddl=x 2= 5,200& = 400 = 10 20,800
OxXg==U 1,377& = 120 » 2402 3,966
OZE=s NsEIALY SRS
110,000& * 12E 1,320
206 M =8l 48,018 48,018
01 M= dl 48,018 48,018
OXIE=2E+E A 45,510
Oxgdgd=R3 231,000& * 60O 13,860
OXZotAZ 14,000& * 1,500% 21,000
OAHE 5,000& » 250 1,250
O 23,000&  200m 4,600
O2M(HA)2 45 16,000& * 300m 4,800
o222+ ML M2 KM 2,508
O3 Aot =X & 60,0003 = 104 60
O3AE HA 25,000& ~ 204 500
O3 ALE chat2 13,200& * 304 396
(OFSPURSE== 15,0003 * 304 450




SN 4T AED
M DHUMES 9B TAIIUEM
ool S22 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ooflg 218 17,6002 * 2004 352
OZ2IISY AT T
15,000& * 10J0f = 5& 750
305 a2 S 5,000 5,000 0
01 tHa=8 5,000 5,000 0
OEZAE MDLHM Hiag  500,000& * 102l 5,000
307 21201 A 54,800 54,800 0
05 BIZERIE 3 54,800 54,800 0
OXotE &t 1,400,000& * 104 123 16,800
0822 = Hel FNEH| 38,000
O=0 £ AF¥ &4l 18,000, 000& 18,000
OHEANEE S E 2,500,000& * 8 20,000
401 AIEHI L 201 2,833,075 3,425,447 AB92,372
01 A& HI 2,824,093 3,417,275 A 593,182
OEZ2 & TZ2ANEE FANEFAY 2,495,000
O0tAZE 2B 300,000, 000& 300,000
OX& =M 50,000,000& 50,000
O 2 ZAA RAUE+ 50,000,000& 50,000
OdesmriEs 950,000, 000& 950,000
Os=szsdessiE=s 720,000,000& 720,000
Oz AdE RNES 100,000, 000& 100,000
O 0ESTA ANEE SN2+
100,000, 000& 100,000
OF2 T2H(HM=&Y S) HUlAY
200,000, 000& 200,000
Ozl S2oHHEXZ FH|
2,500,000& * 100H 2 25,000
OAREAE RX2eltl 100,000, 000& 100,000
O==2FH ¥ |A22AAY AAEAHH
2,495,000,000& =* 3.54% 88,323
OE2UN SYL22(FANEY)
450,000& = 102 X 4,500
OS2 SY+22(LESY)
350,000& = 102 X 3,500
O4tdgEE CCTV & dZE RAEx
85,000& = 2804 » 123 28,560
OANE & sHEZZ 0IN=2EXN 24 104,210
O&EXI0H bl 100,000, 000& 100,000
OAsz24z 4,210
AEEIILLE
200,000& = 2J4J|& « 5E X 2,000
—2EsYLaE 372,0002 * 52 X 1,860
-SJI0IE =2 70,000& = 5 X 350
03 A& =2 THHI 8,982 8,172 810




SN 4YTR ALD
X DEYTE /8 TADIEERY
ool ceee EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ok ¥ TZ2ANES RAUEs ANERUHI
2,495,000,000& =* 0.36% 8,982
28 KR ALY 838,670 1,564,808 ANT26,138
401 Al HI K 201 838,670 1,564,808 NT26,138
01 A& tI 834,827 1,560, 066 AT25,239
OHMZ LA S 2MA OFAZIMN LRI BAH(L
=780m) 470,000,000 470,000
OJEH HEel LA 0202 HHl 2 AHL=60mn
) 40,000,000& 40,000
OF2H S3cl 0=t FHISA
100,000, 000& 100,000
OARE FUSRAE(SH) 200,000, 000& 200,000
OAA2 XNEINRI AHY A AL AHHI
610,000,000& * 4.07% 24,827
03 A& S THHI 3,843 4,742 A 899
OAIE 2 HHI 610,000,000& * 0.63% 3,843
g 2 Ad2 X2 837,465 733,060 104,405
401 AIEHI L 20 837,465 733,060 104,405
01 A& HI 834,000 730,900 103, 100
OUEHANEE RANE= 300,000, 000& 300,000
ORHA otaE2Z I SAE=(12904)
20,000,000& 20,000
ORAF CIAET=E MBE RAE(9HA)
20,000,000& 20,000
O=22dn BEEA S A 210,000, 000& 210,000
OSLXGIANE 2 1A HUHHMEAEN
53,000,000& 53,000
OAH3W 2 iy HYHNHAEH
53,000,000& 53,000
O&02w 2 1iL FUYAIHEHESA
56,000,000& 56,000
Odtsw 2 i HYHNHAEH
56,000,000& 56,000
OF2uw 2 iy HYAHNMNHHAEH
66,000,000& 66,000
03 A& =TI 3,465 2,160 1,305
Oougy ¥ AEE SFXN2A2lAY AIE20UH]
550,000,000& * 0.63% 3,465
Mt - THoel M=zZ3st 8 1,044,799 1,354,023 A 309,224
THt - THOH Off 2 89,287 111,387 A22,100
Mt 2 THoH 22 89,287 111,387 A22,100
201 ¢4l 81,887 103,987 A 22,100
01 At 2t 2l 4,693 4,693 0




SN 4YTR ALD
M T - THol 2 MZst =&
Chlr THY - THOH Ol & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJlstt Atea 2H(RUIIHFH) 2
2,000,000& = 95% 1,900
oMU BES U B FE
70,000& = 103 = 95% 665
OM-HESEaes 22T S|
8,000& = 2H * 50& * 95% 760
ONMEXY 22X =l
8,000& = 3Y¥ = 60 = 95% 1,368
02 =224l 77,194 99,294 A 22,100
O&Loi 2 &HHl &bl 10,140
OuBI| =sXl el 1,000,000& = 2CH 2,000
ONM&Es LeNaEI| %2l
1,000,000& = 2CH 2,000
ON&E &L =g
1,000,000& * 404 4,000
ONsZ+=2MEX FZHl 350,000& * 23 700
OM&eg F=E AHA AR
120,000& * 128 1,440
ONM&ZZHl EX AMEZ 2,560
OMAEX (W) dIAEs=2
200,000& = 204 » 43 1,600
OMEEX &ot+=T MEZ
80,000& = 304 » 43 960
O =zl 7,494
OMEZRY 88 HLAFIUH(ER)
916& = 504 =« 30¢ 1,374
ON&EE 2AHLEI FRRU(ER)
1,275& = 1604 = 30 6,120
OANE & SHEEZ HMEdd 57,000
OM&EY BE=(ExHId0IH)
200,000 * 114CH 22,800
OM&ZEY EdH 23U
100,000 * 33l = 114CH 34,200
206 = Hl 7,400 7,400 0
01 MHZ 4l 7,400 7,400 0
O=olCHZE XX 7,400
OZ 2= (0.8mx12m) 20,0002 = 208 400
OCHEHOIE 2 45 2,000,000& 2,000
OPPILCH 10,0002 * 5000H 5,000
ot - i =AlE JHA 955,512 1,242,636 N287,124
BH=Ald EHl 2 |sX 22 244,306 350,913 A 106,607
401 A& HIZ 201 Y| 244,306 350,913 A 106,607
01 A& HI 242,650 348,501 A 105,851
Oo0tsdt=% FBH ¥ SFXZelAY
230,000, 000& 230,000




SN 4T AED
M THL - THoH el MZ3 3§
E2: ol - BH=AIE M (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Otix=2 HUIZS A & AIE A HI
230,000,000& * 5.5% 12,650
03 AlE 201 Y| 1,656 2,412 ANT756
Oti+=2 HUIZAI AIZ 20|
230,000,000 % 0.72% 1,656
old Adl ¥ s 630,486 695,895 A 65,409
201 fBt24Ay| 41,800 41,800 0
01 AP 22| H| 41,800 41,800 0
O ofd =4 ¢ Hi£==2 ZHl &HELX= 41,800
O=z4H]| 600,000& = 204 = 20 * 95% 22,800
OEZEH 500,000 = 204 = 20 * 95% 19,000
401 AlEHIZL £ 0HY| 588,686 654,095 65,409
01 Al&H| 585,000 650,000 A 65,000
O ol KX 2| AFS 460,000,000& 460,000
O H2& SIMNE=A A 50,000,000 50,000
O AP 2 olEH X&EE=2 HAHAY
35,000,000 35,000
O TR otd8Y H=ZI(ABHD])
40,000,000 40,000
03 AlE 201 | 3,686 4,095 AN 409
O old&EH &L SX2H2IAY AIEE20H]
585,000,000 * 0.63% 3,686
A0t FHHIAIY 80,720 195,828 A 115,108
401 AlEHIZL 201 Y| 80,720 195,828 A 115,108
01 Al&H| 80,000 195,000 A 115,000
O Aotd RAE%E 80,000,000 80,000
03 Al 20| 720 828 A 108
O A0td KA+ L HUHAIE AIE R 0HH]
80,000,000& * 0.90% 720
ol 4= 22l 43,680 29,800 13,880
KXol B 22| 43,680 29,800 13,880
KXot AIEE2 22 43,680 29,800 13,880
201 LBt ]| 4,680 4,800 A 120
02 E2=22%H| 4,680 4,800 A 120
OXlot4y EX2AFAU SARS
10,000€ = 39 & = 12&€ 4,680
401 AlEHIZL 201 Y| 39,000 25,000 14,000
01 Al&H| 39,000 25,000 14,000
OXlots BXxz2=9 H)IEH
500,000& * 3904 = 23] 39,000
HHSHAH (NS AL W) 636,642 632,932 3,710
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X XH: SHXA
L= B

bl eEH)
Y. B (3H) - HEAY - BES o A o SSa HDE2
566,847 556,067 10,780
566,847 556,067 10,780
Pals] 566,847 556,067 10,780
03 2IAH X2 Z Xt 566,847 556,067 10,780
cE4g 406,887
ods(o2) 178,917
214 Xt 3,261,740& » 14  12& 39, 141
-204 Xt 3,205,610& ~ 1H » 128 38,468
=174 Xt 3,037,940& » 14 * 12& 36,456
-16E Xt 2,981,880& » 1H » 128 35,783
-64 Xt 2,422, 3703 » 14 » 12& 29,069
o= 184,464
-hEsY 4,080
Bl 2 Xt 40,0003 * 6Y = 12& 2,880
=Hl = 20,000& ~ 598 « 12& 1,200
—HEE G 100,000& * 12& 1,200
-HE (=22
19,600 * 20AI2t = 6H = 12& 28,224
0222
8,000& * BAIZ2F » 6% x 30 40,320
-5e22=s
19,600 * 8AI2F » 6% x 1002 94,080
e+ 30,0008 * 6Y * 12& 2,160
=25 150,000& * 69 = 12& 10,800
==y 50,0008 » 6H x 12& 3,600
O I & 104,1483& * 69 » 20 12,498
OY &SIyl 1,344,000& ~ 6YH * 23] 16,128
Odma=2 800,000& * 6YH = 13 4,800
OZ2 bl 140,000 * 6Y = 12& 10,080
OS2 A S| 5,280
O2Z0&AXe 8,000& * 6YH * 60 2,880
O XH ol CH =4 8,000& * 6H = 50 2,400
ORAX Xl &l 500,000& * 69 3,000
O=z2E 43 LSy 1,680
OoO&g=s 90,000& * 694 540
o=g9 15,000& * 6YH 90
OCtX gt 60,000& * 694 360
O&3 15,000& * 6YH 90
ogst= 100,000& * 69 600
O 2J|stt g2 150,000,000& * 1H 150,000
=2 69,795 76,865 A7,070
23y 69,795 76,865 AT,070
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201 fEt2E | 39,039 39,585 A 546
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OJIEZHl(S2dl)
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oaegt 350& = 3,000 1,050
Osl 2,450 = 2,000 4,900
Oottsz 2,100& = 300A 630
oI =X E=Hl 27,000,000& = 8% 2,160
202 o4 4l 25,536 29,760 N4, 224
01 =L 20,736 27,360 N6,624
QJI=3Hl
20,0003 * 24 = 62 » 128 » 60% 20,736
02 EA0dtl 4,800 2,400 2,400
OFSPNE-FON; 200,000& » 2% » 12& 4,800
203 YR =&Y 5,220 5,220 0
04 FEN2SE 2T 5,220 5,220 0
QII=H 5,220
O30¢el ol 5t 400,000 ~ 12& 4,800
O30e! =t 5,000& = 78 » 12& 420
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SN 42T AED
Hu: ASMH AN
Sl 2HHS T S CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O2gaN= 28=E AH 950
o= H& 1002 * 10,00000 * 95% 950
OsAZN= MNNLES oMy
200& * 5,0000H * 95% 950
otxE 2E= 1,596
Oo=22= 90,000& * 2& * 6YH = 95% 1,026
ogsts 100,000 * 6% * 95% 570
206 M= Hl 3,525 3,525 0
01 &2 bl 3,525 3,525 0
O=YH&Z1NE FHIES JIANM 3,525
OtH NRIDE &2 4,000 * 2002 Al 800
ot=sd It 7,000& * 1000H 700
OuUH 20,000& * 104 200
O £+2HMNE () 175,000 = 50H 875
OsL%HNE H(B) 50,000& * 54 250
O £%HNE WH(A) 25,000& * 10H 250
O=3=& 0t 300& = 1,000H 300
(OF=34 3,000 = 5004 150
307 212t01 & 35,000 34,680 320
05 A2t E = 35,000 34,680 320
OE2g&N=E §248H 84 35,000,000& 35,000
SYHLEEA L LAMIZ HU 8,836 8,836 0
201 LEt2 Y| 7,361 7,361 0
01 AFR2t2l bl 7,361 7,361 0
OL&dAX= HIxx=
54,000& * 4m = 33| * 95% 616
OSYL-HY SHUSEH S|
8,000& = 30¥ x 20 * 95% 4,560
OLAAIE ENEH Xs 855
O XAl &+ 450,000 = 1CH = 2& * 95% 855
O Et 8t IO =l 1,330
Oo=22= 90,000& * 2& * 5 x 95% 855
Oogst= 100,000& + 5% « 95% 475
206 M = Hl 1,475 1,475 0
01 M= bl 1,475 1,475 0
OLdA L LAMaEXZ HHIE AR 1,475
Ot NRIAE HA2E  4,000& * 2002 d 800
OE (OF2tEY o) 35,000& * 54 175
O338 =94 0tHH 300& = 1,0000H 300
Ot s 10,000& * 204 200
BH2YYH (4G ASD) 85,636 81,898 3,738




M. o (BH) - HSAY - BAS il HDS2
=3t 85,636 81,898 3,738
=&l 85,636 81,898 3,738
201 LEr2 Y| 35,712 35,246 466
01 At 22l Yl 26,248 26,502 N 254
oJlegesadis sy (I=d4dl)
500,000& * 23% * 90% 10,350
o=3gdl (JI=&yl)
8,000 * 23% » 8 x 12& * 90% 15,898
02 =294l 9,464 8,744 720
oRWE2 8,400
Oggt 3503 * 600 * 12& 2,520
OSII 2,450 * 200 * 12& 5,880
OHFZ AR EHI =AY 1,064
OelED] 2,300,000& ~ 10H = 8% 184
O&E K= AL 5,500,000 = 200 * 8% 880
202 04| 40,224 42,452 N2,228
01 2LHOHI 13,824 16,052 N2,228
O=2UWAHl(JI1=34l)
20,000& = 129 » 62 * 128 » 80% 13,824
02 MY 26,400 26,400 0
OEHNY (II=FHl)
200,000& * 11 * 128 26,400
203 R =&Y| 4,200 4,200 0
04 ENSIHRF=AY| 4,200 4,200 0
OJ|= (25021 0l5t) 350,000& « 12& 4,200
405 XHabF SHI 5,500 0 5,500
01 A&t = S F SHI 5,500 0 5,500
©O XHAHFE SHI 5,500
O&EX= AL 5,500,000& * 1CH 5,500




